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The Challenge: Determine all Hhe coefficients.

ﬂou CAN Ask ‘For H\Q/ vo\|uez o‘F ‘H\Qx Folgr\omiﬂ\l.

ﬂou are Allowed oA‘ﬂ oNne %%*Hor\.
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Consider He value of Hhe Polgr\omio\l ot Haver.
Lot p(3) =D.

Write D in base 3.
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C/or\sialw "’b\Q/ vo\|uQ/ o‘F *H\Q/ Po‘ﬂ'\omiﬂ‘ o\*l" H\\(%.
Lot p(3) =D
Write D in base 3.

This giV% You All Hae coefficients.
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All Hhe coefficients are natural numbers.

Determine all Hie coefficients.
60«4 can ask For Hhe value of Hhe Folgr\omio\l.

How many questions will You Nerd before You coan

dedermine Hie coefficients?



